Worksheet on Intermediate Algebra Concepts of Inequalities, Union & Intersection and Absolute Value Equations. 

1.
Solve and graph the solution set.

a)
-3x  +  15  <  -9



b)
-4  (  -x  (  3  <  7

2.
Give the solution set using interval notation.

a)
x  <  -1      or      x  (  5


b)
3x  +  6  <  -9     or      -6x  >  -18

c)
-5x  (  5  (  10     and     2x  <  6

d)
-3x  +  6  <  -9     and      -6x  >  -18

3.
Solve.

a)
| 6/7 x  +  4 |  +  12  =  5


b)
|2x  (  1|  (  3

c)
| 2x  (  1 |  >  3



d)
| 14x  (  62 |  (  -26


e)
| 2x  (  7 |  =  | 4x  +  3 |


f)
  4x  (  7          (  0
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g)
  4x  (  7          <  0
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